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QUESTION 1

The JVM is crashing every time the ActiveMatrix BusinessWorks installer tries to start. Which two steps should be
taken? (Choose two.)

A. add the parameter -update JVM to the installer

B. check that the javahome directory contains bin/java.exe or bin/java
C. check that the network has access to sun.java.com

D. try running the installer using a different version of JVM

Correct Answer: BD

QUESTION 2

Click the Exhibit button.
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Only one database is used, and all four JDBC activities in the process point to it. The database is down. Which JDBC
Update activity may be executed more than once?

Al
B. 4
C.3
D.2

Correct Answer: A
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QUESTION 3

You wish to deploy a pair of engines that share states between jobs via Shared Variables. Which statement is true
about this configuration?

A. States cannot be shared across engines, only across jobs within one engine.
B. Sharing states is achieved via TCP communication.

C. A database is required.

D. A shared location in the filesystem is sufficient.

Correct Answer: C

QUESTION 4

Click the Exhibit button.
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Which activity will the process engine transfer to if the PollReturnedStock activity gets a return message first?
A. CancelOrder
B. ProcessOrder

C. Timeout
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D. IncomingOrder

Correct Answer: B

QUESTION 5

Which statement is true about the Accumulate Output feature for loops?
A. It accumulates the output for any map activity in the loop.

B. It accumulates the output for the last executed activity in the loop.

C. It accumulates the output for all activities in the loop.

D. It accumulates the output for a selected activity in the loop.

Correct Answer: D

QUESTION 6

You wish to be able to configure a Global Variable on a per-service basis from TIBCO Administrator. Which Global
Variable option should you check?

A. Value

B. Service

C. Constraint
D. Type

Correct Answer: B

QUESTION 7

What are two places the domain properties can be found? (Choose two.)
A. TIBCO_HOME/domain

B. TIBCO_HOME/administrator/domain

C. TIBCO_HOME/repository

D. TIBCO_HOME/designer/domain

E. TIBCO_HOME/tra/domain

Correct Answer: BE
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QUESTION 8

Click the Exhibit button.
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What is represented by the two question marks in red circles?
A. missing references to shared resources

B. conditional break points

C. errors in the input-mapping

D. conditional transitions

Correct Answer: B

QUESTION 9

Which two settings can be changed from the "Configure runtime" option on the TIBCO Designer Startup Panel
Administration tab? (Choose two.)

A. transition line mode

B. maximum JVM heap size
C. user directory location

D. deployment target machine

Correct Answer: BC

QUESTION 10
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Which statement is true about the Load Full Project option in TIBCO Designer?
A. It loads only the referenced parts of the project.

B. It loads and validates the entire project in memory.

C. It makes working with the project faster.

D. It finds references to other projects in memory.

Correct Answer: C

QUESTION 11

Which resource should you use to create a single Java object for the entire JVM?
A. Java Custom Function

B. Java Global Instance

C. XML to Java

D. Job Shared Variable

Correct Answer: B

QUESTION 12

You wish to expose multiple operations for a SOAP service in ActiveMatrix BusinessWorks. Which activity should you
use?

A. SOAP Request Reply
B. Service Resource

C. SOAP Event Source
D. Context Resource

Correct Answer: B

QUESTION 13

You wish to pass data into a sub-process without changing the interface of the process. Which type of variable is most
suited for this task?

A. Shared Variable
B. Job Shared Variable

C. Process Variable
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D. Global Variable

Correct Answer: B

QUESTION 14

Errors are being thrown, but they are beyond job boundaries for a Service Resource. Which activity should you use to
catch these errors?

A. Rethrow

B. Generate Error
C. OnError

D. Catch

Correct Answer: C

QUESTION 15

All processes in a project are required to share custom, constantly modified error codes for error reporting across
deployments and multiple engines. Which type of variable should hold these error codes?

A. Shared Variable

B. Global Variables

C. Process Variables
D. Job Shared Variable

Correct Answer: A
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